Practice Problem Set 5B
Vibration Response to Periodic Forcing Function using Fourier Series Approximation

Do the following problems from the book:

5.7: Find the vibration response, x(¢), of an undamped 1-DOF system subject to the periodic
forcing function below.

5.8: Find the vibration response, x(¢), of a damped 1-DOF system subject to the periodic
forcing function below.
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Also, why don't you try plotting the solutions?
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't get tempted by the dark side. Resist! Use the, um, Force?
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(Go back up and think harder? Also, what exactly are you looking for in
the solution below?)
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